

$$\begin{array}{r}
 \overline{846} \\
 -8 \downarrow \\
 \hline
 0 \overline{4} \\
 -4 \downarrow \\
 \hline
 0 \overline{6} \\
 -6 \\
 \hline
 0
 \end{array}
 \quad \left| \begin{array}{r}
 2 \\
 \hline
 423
 \end{array} \right.$$

$846 : 2 = 423$   
 reste 0,

$$\begin{array}{r}
 \overline{846} \\
 -6 \downarrow \\
 \hline
 2 \overline{4} \\
 -2 \overline{4} \\
 \hline
 0 \overline{0} \overline{6} \\
 -6 \\
 \hline
 0
 \end{array}
 \quad \left| \begin{array}{r}
 3 \\
 \hline
 282
 \end{array} \right.$$

$846 : 3 = 282$   
 reste 0

$$\begin{array}{r}
 \overline{846} \\
 -8 \downarrow \\
 \hline
 0 \overline{4} \\
 -4 \downarrow \\
 \hline
 0 \overline{6} \\
 -4 \\
 \hline
 2
 \end{array}
 \quad \left| \begin{array}{r}
 4 \\
 \hline
 211
 \end{array} \right.$$

$846 : 4 = 211$   
 reste 2

$$\begin{array}{r}
 \overline{846} \\
 -5 \downarrow \\
 \hline
 3 \overline{4} \\
 -3 \overline{0} \\
 \hline
 0 \overline{4} \overline{6} \\
 -4 \overline{5} \\
 \hline
 0 \overline{1}
 \end{array}
 \quad \left| \begin{array}{r}
 5 \\
 \hline
 169
 \end{array} \right.$$

$846 : 5 = 169$   
 reste 1

$$\begin{array}{r}
 \overline{846} \\
 -7 \downarrow \\
 \hline
 1 \overline{4} \\
 -1 \overline{4} \\
 \hline
 0 \overline{0} \overline{6}
 \end{array}
 \quad \left| \begin{array}{r}
 7 \\
 \hline
 120
 \end{array} \right.$$

$846 : 7 = 120$   
 reste 6

$$\begin{array}{r}
 \overline{846} \\
 -8 \overline{1} \downarrow \\
 \hline
 0 \overline{3} \overline{6} \\
 -3 \overline{6} \\
 \hline
 0 \overline{0}
 \end{array}
 \quad \left| \begin{array}{r}
 9 \\
 \hline
 94
 \end{array} \right.$$

$846 : 9 = 94$   
 reste 0